





x+3 a b

(x+1)(x+2) x+1 T2
S

D R
=%

o

WEY O, o + 52 O gL T8



2 3

GIDE+3) G +3)(x10)
4 5
G106 +10)  x+10)(x+15)

_|_

6 7
7

T EID) 2D |t 2l)(x+ 28)

28 7
@ x2 + 28x @ x2 4 28x
6 1

x2 4 21x x2 4+ 21x



=a+

b oat g, o2 4 2 9] B FoHALL.
1



— |

® 2

@1



-a+b+c a-b+c a+b-c Uﬁ(a—kb)(b—kc)(c—ka)
a N b N c = abc
G2 (Ha+b+c#0)

7. o]

@ 8 VN ® 4 @ 2 @0



2

y= o -2 Tef ol e 4% % %

D y= % of TEjmE yEOR 1 yEO
Jefjmoly

@ A9 R-{-2}oltt

® A 2ARWS A1) greth

@ HAIAHAEx=1, y=-2°|th

® Fo92 R - (1} °olth



A ax+1
YT 4

a+b o 27

<

D 1 o)

o] aeme] Aol x = 2,y = -1

9 ® 3 @ 4



il

A A1, 3 AHE

EPRENEIC

e

© FAdy=-x+3, y=x-1°H

® 0,0 ® 9,0

® ©

® 0,06,06

ONGNG)



@0



ngzmgnaﬁy:xﬂmaﬂm%%

FelBE 1) = -
4% k) L7

® -5 @ -3



T filx) = %};—EB of st fuy1 = fio fuln = 1,2,3,---) o=t

1
& o, figo(1) 2] 27




@ 2 @ 3 @ 4 ® 5

1



,8(x)

_ 2x+3
ox-1

o tate] (f71og)(2) <



16.

i} b =
ga|gte y = %94 Jf=Z7 A (2,7)2 AU o]
X+c

7ty = x-3

A, q b, c H abcE FoHH?

oot
1o
18

)

D -27 @ -9 ® -3 @ 3 ® 9



7t ard o, g

1

1
y:
X —

P
T

TR

bk

17.

1+1,y:m(x—1)—|—19413H

1



Yy Wyt oz A= m ho g1

18.
3 4 2 A

@ 9 @7 ® 6 @ 8 ® 5



19.

@

x:g,aib, biOOE".EqL

X x+1
x+1 x-1

a+b%?
a—-b

@1

1
@ x--
X

® x4+ -
X



B-x x*-1 x?-2x-3 x+2

_ o AArstE?
x2—-x x2-1 x+1 Xxg—x—GEﬁ] sf
241 2
O x+x+1 ®x+ @%
x—1 x* -1
@ 2-1 ©2x—1

2

X=X



